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Use the following formulas when appropriate
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Determine the common difference, the nth 11::1‘111,_3:1511\»{11& 100" term of the arithmetic sequence.
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' 2: The 12" term of an arithmetic sequence is 32, and the 5" term is 18, Find the common difference, the n'
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3: Given: 144, 12, 1, é,

Determine the common ratio, the fifth term, and the nth term of the geometry sequence.
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6 Find the sum of the infinite geometnc series —+ — 4+ —+ ...
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7-8. Use mathematical induction to provethat2 + 4 + 6 + .., 4 2n=n(n + 1) is true for all natural numbers n.
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9, Find it three terms of (25—37)° and ther Simplity tiese tams, X ] |
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